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o/
1

Wo
w1
w2
w3

= W0 + W1+ W2+ W3

= WO + W1 + W3

0.250 (m)

0.250 x

23.500 (kN/m?)

23.500

5.875 (kN/m?)
0.490 (kN/m?)
2.450 (kN/m?)
0.000 (kN/m?)

8.815 (kN/m2)
6.365 (kN/m2)
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2
2.1
2.1.1
: 12mm( )
( 2) t= 12.000 (mm)
Z= 24.000 (cm®)
2 1 = 14.400 (cm*)
E= 550.000 (kN/cm?)
fb = 1.370 (kN/cm?)
da-= 0.300 (cm)
[ ]
(ERSEELE
ROKH R
2.1.2
[ ]
HOTE o

/////

L = MRl = 30 (cm) ‘

SRR OB S AWE o

bAIEMOESHAE o’

8. 815

b = ———— X 100.000 = 0.088 (kN/cm)
100 X 100
6. 365

X b= ———— X 100.000 =  0.064 (kN/cm)
100 X 100

= 8.815 (kN/m?)

= 6.365 (kN/m?)

( 1) = 100.000 (cm)

0.088 (kN/cm)
0.064 (kN/cm)

FORUMS8



2.1.3
. X 1° 0. 088 X 30.000°
BREIFT— AL b M= — - - = 9.917 (kN. cm)
M 9. 917
0“4\\ § b = — = = 0413 kN 2
HTIEHE o 7 21,000 (kN/cm?)
o b = 0.413 (kN/cm?) fb = 1.370 (kN/cm®) --> OK
M : = 9.917 (kN.cm)
ob : = 0.413 (kN/cm?)
w : = 0.088 (kN/cm)
1 : = 30.000 (cm)
Z: = 24.000 (cm®)
fb : = 1.370 (kN/cm?)
2.1.4
5 X o X 1 5 X 0.064 X 30.000°
0 max = = = 0.085 (cm)
384 X EI 384 X 550.000 X 14.400

6 =0.085 (cm) da=0.300 (cm) --> 0K
: 0.085 (cm)

0.064 (kN/cm)
30.000 (cm)

550.000 (kN/cm?)
14.400 (cm*)
0.300 (cm)

(o]
€ (o]
QO w= [T == -
N
1 I O | R S N I 1

FORUMS8




0. 026 (kN/cm)

0.019 (kN/cm)

8.
6.
30.
0.
.019 (kN/cm)

0

2.2
2.2.1
60x 2.3
Z= 9.440 (cm®)
A= 5.172 (cm?)
2 1 = 28.300 (cm*)
E = 20600.000 (kN/cm?)
fb = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
da-= 0.300 (cm)
2.2.2
[ 1
AT o
1 = XEIEE = 121.9 (cm)
W TR EH DSy A e B w =W Xb = __ 8815 X 30,000 =
100X 100 '
At EAOESMAWE o =W X b= _ 6365 X 30,000 =
100 X 100 :
W :
W
b ( )
w
(A)’
2.2.3
. X 1> 0.026 X 121.900
BREFE—AL b M= = = - = 49,120 (kN. cm)
M 49,120

@H‘Fﬁ;ﬁ}g‘ ob = 7 = 9. 440

o b =5.203 (kN/cm?)

5.203 (kN/cm?)

fb = 16.300 (kN/cm?)
M :
ob:
w :
1 :
Z :
b :

--> 0K

815 (kN/m?)
365 (kN/m?)
000 (cm)

026 (kN/cm)

.120 (KN.cm)
.203 (kN/cm?)
.026 (KN/cm)
121.
.440 (cm®)
16.

900 (cm)

300 (kN/cm?)

FORUMS8



2.2.4
x 1 0.026 X 121.900
mREAWS Q= wz = 5 = 1.612 (kN)
% 9000 X 1612
EAMEE o= — - C s = 0.623 (kN/cm)

T = 0.623 (kN/cm?) fs = 9.300 (kN/cm?) --> OK

—
1

O
1

0.623 (kN/cm?)

1.612 (kN)
w = 0.026 (kN/cm)
I : = 121.900 (cm)
K = = 2.000
A : = 5.172 (cm?)
fs = 9.300 (kN/cm?)
2.2.5
5 X o X 1! 5 X 0.019 X 121.900
0 max = = = 0.094 (cm)
384 X EI 384 X 20600, 000 X 28.300

60 =0.094 (cm) da=0.300 (cm) --> 0K
o : 0.094 (cm)

w' 0.019 (kN/cm)
121.900 (cm)

20600.000 (kN/cm?)
28.300 (cm)
0.300 (cm)

(og]

Q = [T =
N

oo onu

FORUMS8




2.3
2.3.1
100x 100x 3.2
Z= 37.500 (cm®)
A= 12.130 (cm?)
2 1 = 187.000 (cm*)
E = 20600.000 (kN/cm?)
fb = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
da-= 0.300 (cm)
2.3.2
[ ]
AT E o
1 = AR = 182.9 (cm)
S SRR D S AR o) =WXt)=——§§§x 121.900 = 0.107 (kN/cm)
100X 100
TeoBHHEHOSHMWE o =W X = 0300 121.900 =  0.078 (kN/cm)
100X 100
W : = 8.815 (kN/m?)
w = 6.365 (kN/m?)
b ( ) = 121.900 (cm)
w : = 0.107 (kN/cm)
W' = 0.078 (kN/cm)
2.3.3

o X 17 0.107 X 182.900°

BAKBTE—A N M= . = . = 449, 328 (kN. cm)
M 449, 328
‘\4\\ E‘ = — = = . g
BFISTIE ob / 7 500 11.982 (kN/cm®)

ob=11.982 (kN/cm®) b = 16.300 (kN/cm?) --> OK

M : = 449 _328 (kN.cm)
ob: = 11.982 (kN/cm?)
w : = 0.107 (kN/cm)
I : = 182.900 (cm)
Z: = 37.500 (cm®)
fb : = 16.300 (kN/cm?)

FORUMS8




2.3.4
x 1 0.107 X  182.900
mREAWS Q= @ 5 = 5 = 9,827 (kN)
% 9000 X 9,827
EAMEE o= — - C RN = 1.620 (kN/cmd)

T =1.620 (kN/cm?) fs = 9.300 (kN/cm?) --> OK

—
1

1.620 (kN/cm?)

Q : = 9.827 (kN)

w : = 0.107 (kN/cm)
1 : = 182.900 (cm)

K : = 2.000

A : = 12.130 (cm?)

fs = 9.300 (kN/cm?)

2.3.5
5 X o Xx 1 5 X 0.078 X 182.900
0 max = = =0.293 (cm)
384 X EI 384 X 20600.000 X 187.000

0 =0.293 (cm) da=0.300 (cm) --> 0K
o : 0.293 (cm)

w' 0.078 (kN/cm)
182.900 (cm)

20600.000 (kN/cm?)
187.000 (cm®)
0.300 (cm)

(og]

Q = [T =
N

oo onu

FORUMS8




2.4

1219x 1725-1
Pa = 42.600 (kN)

(cm) x (

29.480 (kN)

(cm) x 1.5) = (182.900/100) x (121.900/100) x 1.5

3.344 (%)

A =8.815 x 3.344 = 29.480 (kN)

Pa = 42.600 (kN) --> OK

FORUMS8




2.5
2.5.1
@ 48.6x 2.4(STK500)
W=cw X ( X )
= 8.815 x (365.700/100 x 365.800/100) = 117.921 (kN)
H = x W =0.025 x 117.921 = 2.948 (kN)
2.5.2
e 506. 000
Tk = A LR \ = = 168.667 (cm)
GEAIZ L D AN H (= GRS + D 2+l
1k 168. 667
iR = — = ——— = 103.109
AR - 636
n’E 7 X 20600. 000
A = = = 97.700
RS MELE A \/0. 6F \/ 0.6 X 35.500
Ik : = 168.667 (cm)
9, 320
Lo BTE2 SRR ﬂ/ = . = 1.636
i Wrmm2u e 5 183 (cm)
I : 2 = 9.320 (cm®)
A : = 3.483 (cm?)
E : = 20600.000 (kN/cm?)
F: = 35.500 (kN/cm?)
A >A
0. 29F 0.29 X 35.500
fk = - = — =9.243 (kN/cm)
i 103. 109
A 97. 700

FORUMS8



- 10 -

2.5.3
2 1
H 2948
HL = — = = 1.474 (kN)
2 2
1, 1.474 X 506.000
N=H X — = = 2.040 (kN)
1, 365. 700
N 2040
= — = = 0.586 (kN/cn
O % T 3483 (/')
W T,
o,  0.586
S =0.063 < 1.0 —> OK
£, 9.243
N = 2.040 (kN) = 3.430 (kN) --> OK

FORUMS8
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